7= Dllfa = {{Prep[{{0, 1}, {3, 10}, {4, 7}, {8, 93}, 11], Prep[{{0, 10}, {2, 9}, {3, 63}, {7, 8}}, 111,
Prep[{{0, 5}, {3, 7}, {4, 8}, {9, 10}}, 111}, {Prep[{{0, 7}, {1, 2}, {3, 6}, {9, 10}}, 11],
Prep[{{0, 1}, {2, 5}, {6, 10}, {8, 9}}, 111, Prep[{{0, 7}, {1, 8}, {4, 10}, {5, 6}}, 111}};

D11fb = Drunlieft [D11fa];
D11fc = Drunlieft [D11fb];
D11fd = DrunRi ght [D11fc];

Al D11f = {Dl11fa, D11fb, D11lfc, D11fd};

Dllga = {{Prep[{{0, 1}, {3, 10}, {4, 7}, {8, 9}}, 111, Prep[{{0, 10}, {2, 9}, {3, 6}, {7, 8}}, 11],
Prep[{{0, 9}, {2, 5}, {3, 8}, {4, 6}}, 111}, {Prep[{{0, 7}, {1, 2}, {3, 6}, {9, 10}}, 11],
Prep[{{0, 1}, {2, 5}, {6, 10}, {8, 9}}, 111, Prep[{{0, 8}, {2, 4}, {5, 10}, {7, 9}}, 111}}

Dl1gb
Dligc
Dl1gf
Dllge
Dllgd

DrunRi ght [Dl1lga];
Drunleft [Dl1gb];
DrunRi ght [D11gb];
Drunieft [Dllga];
Drunleft [Dllge];

Al D11g = {Dl1ga, Dl1gb, Dllgc, Di1lgd, Dillge, Dilgf};

Dllha = {{Prep[{{2, 10}, {3, 4}, {5, 9}, {6, 73}, 111, Prep[{{0, 10}, {2, 9}, {3, 63}, {7, 8}}, 11],
Prep[{{0, 3}, {1, 6}, {2, 4}, {7, 9}}, 111}, {Prep[{{1l, 9}, {2, 6}, {4, 5}, {7, 8}}, 11],
Prep[{{0, 1}, {2, 5}, {6, 10}, {8, 9}}, 111, Prep[{{0, 2}, {5, 7}, {3, 8}, {6, 9}}, 111}};

D11lhb = Drunlieft [Dllhal;
Dllhc = Drunlieft [D11lhb];
D1ihd = DrunRi ght [D11hb];

Al D11h = {D11ha, D11lhb, Dllhc, D11lhd};

Dllia = {{Prep[{{0, 7}, {1, 2}, {3, 8}, {6, 10}}, 111, Prep[{{2, 10}, {3, 4}, {6, 7}, {5, 9}}, 117,
Prep[{{1, 9}, {6, 8}, {7, 10}, {4, 5}}, 117}, {Prep[{{0, 4}, {3, 10}, {2, 7}, {8, 9}}, 11],
Prep[{{1, 9}, {2, 6}, {4, 5}, {7, 8}}, 111, Prep[{{1, 4}, {2, 10}, {3, 5}, {6, 7}}, 111}};

D11i b
D11lic
D1lid
Dl1i e

Drunieft [D11i aJ;
Drumleft [D11i b];
DrunRi ght [D11i a];
DrunRi ght [D11i dJ;

Al D11i = {Dl11lia, D11lib, D11lic, D1lid, Dilie};
Drunti deStyl e = Drunfi deStyl el; Drumnliabel = Drunliabel 1;

ShowDr unPai r [D11f a]
ShowDr unai r [D11f b]
ShowDr unPai r [D11fc, {0, 5}]
ShowDr unPai r [D11fd, {1, 4}]
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in[155):= ShowDr unPai r [D11ga, {8,
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out[157]=

ShowDr unPai
ShowDr unPai
ShowDr unPai
ShowDr unPai
ShowDr unPai

r [D11gb, {6,
r [D11gc, {4,
r [D11gd, {3,
r [Dl1lge]
r [D11gf ]
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in[161:= ShowDr unPai r [D11lha, {5, 10}]
ShowDr unPai r [D11hb, {4, 4}]
ShowDr unPai r [D11lhc, {0, 6}]
ShowDr unPai r [D11hd, {1, 3}]

out[161]=
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Out[164]=
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in170):= ShowDr unPai r [D11i a]
ShowDr unai r [D11i b]
ShowDr unPai r [D11i c]
ShowDr unPai r [D11i d, {1, 4}]
ShowDr unPai r [D11li e, {9, 6}]
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